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Unit 5: Exponential Functions Unit Review- INACTIVE

1. Which graph models an exponential decay 2. The function f(x) = 9(4)* was replaced
function? with f(x) = 9(4)* + k, resulting in the graph
_ below. What is the value of k¥?
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3. Which of the following functifns represents | 4. What would be the 9% term in the sequence

an exponential] Erow’ch iwith all2% rate of 120, 60, 30, ... O, = VG
change where A represents the initial value Anz= O (."' Nat -} /
S n= A, = 2
and x represents the time in years?
Y 120, b0, 3C

A y = A(0.12)* B.y = A(0.88)* Qq*= 120l 2‘2 | ‘;25 ' 15' 15
Cyy = A(L.12)* D. y = A(1.88)* 4 '
Ty = 4012) y = A(L88) F&ng 12 2
5. Which scenario is best modeled by an 6. Determine the type of function the table

exponential function? below represents and write the equation for
the function.

N A. The number of students in Drivers Ed that
Seanng, ~tbegan the class with x students and 2% of the xO| 1 2 3 4 5
% of original s%dents droppedsout &{lzgi m eachc‘ f[x]g{ . 15\‘“(_ 22 \q 29 | 36 43

o month 5 CLMOMNS & i
ggzﬂf\m ir's Bom original owmoovnt Part A: What t*yp-.l!e of ﬁﬁnctlonf‘sﬁrepre*s\;;ed'?
m@ﬂ% B. The amount of tax paid when selling x Ly ¢
dollars of Carolina Panthers merchandise at a W€
rate of 7.25% TOX 1S d\rﬁ,ﬁ""gs elated
O amount SPent N doesn' part B Whatis the equation for this function?
s’@The total cost of a room at a famous Las L“*"«}& = 7Y &
Vegas hotel if the cost was x dollars and the \ 5 = x‘ %
cost increased 3% each year,
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Unit 5: Exponential Functions Unit Review- ACTIVE

1. Whatis the y-intercept of the graph of
. 1 ¥
fAx) = — (5} — 37
fx) = 55 (5)

-29

o

2. The rule for a geometric sequence is

=150 (1)
an = 3

n-1

What is the graph of the equation?

3. A basketball tournament starts out with 243 teams. ®me third of the teams are eliminated after each round.
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5. Which function shows exponential decay?

A F(x)=23(=02)* B f(x)=23(1.2)*
C. f(x) = 2.3(1.8)* @f(x) = 2.3 (0.8)*

6. Amy wrote the following sequence of numbers
-2,1,4,7,10
What expression was used to form the sequence when n is
the term number?
A 3n+2 B. 3n-2

D.3n+5

m3n—5
pa——g




/. What equation correctly models the relationship
between hours passed, h, and the number of
molecules present, m, as shown in the table?

Number of
Molecules
4
16
64
256
1024

Hours Passed
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8. Often times a tweet will be tweeted and then retweeted
with the possible number of retweets growing
exponentially. Sarina modeled this with the function
f(x)=4(3)* where x represents the number of intervals in
which the tweet was retweeted. Which statement about
her function is true?

A. A tweet can be retweeted a maximum of 4 times.
B. There were 3 original tweets.

. There are 4 times 3 or 12 retweets at each level.
At each interval, the number of retweets triples

9. The number of blades of grass y that remain after
m minutes of mowing a lawn can be modeled by the
equation y = 10,530(0.85)™ What is the rate of
decrease of this scenaric?

\S % s

10. After a dose of flea medicine, the number of fleas

X
decreases. Ifthe equationy = 450 G) models this
situation, what value represents the original number of

fleas?
450

11. Elizabeth invested $4,500 in an account that is
compounded annually and pays an interest of 2.3%
each year. By what factor is the investment
increasing every year?

1.023%

12, A car depreciates at a rate of 13% each year. If the
original cost of the car was $42,000, what is the
approximate value of the, car at the end of 4 years?

Y= 4zooo (87"
£ 24,00l ‘Io\

13. A stock loses half its value every week. [fthe
stock was worth $160 starting out, what is it worth
after 5 weeks at this rate of decline?

Y = lbo(-s)*
$#5.00)

14. On the day that Marshall opened a money market
account, he put in $100. If the value of the account doubles
every year, how much would the account be worth in 15
years?

Y= 100(2)°
®73 27‘0)300\

15. The equation y = 300(1.07)* models the value
of a limited edition watch after x years. Which
statement is true about the value of the watch?

A. The value of the watch is decreasing by $300
each year.

‘B. The value of the watch is decreasing by 7% each
year.

C. The value of the watch is growing by $300 each
year.

f DJThe value of the watch is growing by 7% each

year.

16. The Canton family wants to begin saving for a college
fund. They initially deposit $75 into the account and it will
grow at a rate of 14% annually. How much will the Canton
family have saved after 18 ears'?

Y=15(. Iq\
|$7192.14)




" 17. The table below shows the results of an
experiment with flowering trees using two different
types of fertilizers, Type A and Type B. The number
of blooms were measured weekly.

Ergo, Lin.
Time (weeks) Type A Type B
0 23 45
1 \ 2 L
2 18y 3— 140 Y2
3 54¢ .3 192 ‘, 5
4 162 ~ 24215

Which statement best describes the results?

A. Both trees treated with fertilizers Type A or Type
B increased exponentially.

B. The tree with Type A fertilizer increased ata
constant rate.

([ C.)The tree with Type B fertilizer increased ata
constant rate.

D. The tree with Type B fertilizer increased - Y
exponentially,

18. A town'’s population increases at a rate of 1.2% every
year. The current population is 6,800 people. What
equation models this scenario?

A. y =6,800(1.12)*

(®y = 6,800(1.012)*

C.y = 6,800(0.012)*

D.y = 6,800(0.12)*

{9. Which of the following statements is true about
_whie functions f(x) and g(x) shown below?
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A. The rate of change of the function g(x) is always

greater than the rate of change of the function f(x)
he rate of change of the function g{x} will

eventually be greater than the rate of change of
the function f{(x)

C. The rate of change of the function g(x) is never
greater than the rate of change of the function f(x)

D. The rate of change of an exponential function
cannot be determined.

20. Given the exponential function graphed below, which
linear function has the same y-intercept?
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A 2x+y=-12 Yz-2%~\2
(B) 2x+ 4y =12 y=-Yext3
C x=3 |
D. 2x-4y=12 Y = JEX"3




. &1, Given f(x) = 2,500 (0.78)* identify the decay 22. Each year the local recreation center sponsors a
basketball free throw tournament. Play starts with 156

participants. During each round, a quarter of the players
. “[ 8 are eliminated. Write an exponential equation to describe
this situation.

Y= l‘:':o(o(:%ryL

factor.

23. Ify = 57(1.18)%, what is the percent rate of change of y for each unit of x?
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